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- ,. The stockholders' equity section of Camp Corporation's balance sheet at Dec. 31,2006 is 

presented here ( 20% ) 
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1,800,000 

2,700,000 
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3,858,000 
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Stockholders' equity t-------------------..-------. - ­
Paid-in capital: ------_.__._--_._-----­
Preferred stock, cumulative, 10,000shares authorized, 6,000 shar es 


issued and outstanding 
C'.. -----.-------- -----.---- .-.-.--.• '---'--.'- --' _._ 

Common stoc.k, no pal'. 750,000 shares authoril:ed, 600,000 silal 

issued ------_._-----_.. -----------_._-----.~ 

Total paid-in capital 

Retained e8.lnings-----------_._------_. 
Total paid-in capital and retained earnings -_.._--_._------ .._--_.- --_...__._.. _._---'--"-"" 

Less: treasury stock (10,000 common shares) 

~~ stockholders' equit~ ----=~_.__ .~..~--=~ 3,80~~~ 
Instructions: from a review of the stockholders' equity secti<Jfl, an~wer the following questions 

1. )Jitim1:EjH3;J~lf:WWrZ~~":tt·~~~llij~ 

2. ~J3lJoo:~rmm~~:j; 
3. ti~rt~U~:§!~eJgR~fU~$ 54,000, f1Ur:tJjUp.~J1~fl..:$}~~~.V 
4. 2006112/31 ~i~EJ ~·t}5l'tf~1:W.:1fi!¥}fU3=t· $ 150,000 ( 2005 $~JJUJ¥;}:~fljftlj7f<tiJ1) , 

~j:\ffl1~1Iffim~5i'WJR)St::Em~lJUR9:H~* ' 7tlJU pH-~¥U :f.s7:Y':E.7i3lZ:fKlflJ 

.::.: ' Before month-end adjusrment~ are made, the February 28 trial balance of Alice's Adventures 

. contains revenue of $7.000 and expenses of $3,900. Adjustments are necessary for the following 

items: 
.' J t .

• Depreciation for February is $1,500. 

• R.evenue earned but not yet billed is $2,300 . 
.. 

• Accrued interesfexpense is $700. 

• Revenue collected in advance that is now earned is $3,500. 

• Portion of prepaid insurance expired during February is $600. 

Instructions 

ICalculate the oorrectnet Income for Alice's IncomeStatement'for February, (10% ) 

1__,.___--_.­ -_. .._-.---------_.__ .- ----_._-----_._---_._-_.__.._ .._------------- ­
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..::. ... The Brawn Company had a $400 credit balance in Allowance for Doubtful Accounts at 

December 31, 2007, before the current year's provision for uncollectible accounts. An aging of the 

accounts receivable revealed the following: ( 100/0 ) 

Estimated Percentage 

Uncollectible 

Current Accounts $140,000 10/0 

1-30 days past due 15,000 3~1o 

3 1-60 days past due 12,000 60/0 

61-90 days past due 5,000 120/0 

Over 90 days past due 7~000 300/0 

Total Accounts Receivable 	 $179,000 

Prepare the adjusting entry on December 31,2007, to recognize bad debts expense. 

rm... (180/0) 


The bookkeeper for Dole Yard Service made a number of errors in journalizing and posting as 


described below: 


~tl. 	A debit posting to accounts receivable for $500 was omitted. 

1. 	 A payment of accounts payable for $600 was credited to cash and debited to accounts 

receivable. 

2. 	 A credit to accounts receivable for $650 was posted as $65. 

3. 	 A cash purchase of equipment for $561 was journalized as a debit to equipment and a credit to 

notes payable. The credit posting was made for $516. 

Error 
(a) 

In Balance 
(b) 

Difference 
(c) 

Larger Column 

l1U. 
--- ­ ---_._­

No $500 Credit 

1. 

2. 

3. 



~ Jilj : Rlj *~Ji-=-£r.~&. *t § : ittt&F 
~tA: a :AA : 7 A 21 a (jjtJil!!7) ~ 1 if} ,*-t~~# 

,For each of the independent events listed below, analyze the impact on the indicated items at the 

end of the current year by placing the appropriate code letter in the box under each item. 

0= item is overstated; U = item is understated; NA = item is not affected (24%) 

Events Items 

Assets Stockholders 'Equity Cost of 

Goods 

Sold 

Net 

Income 

1. &1f.J:f t 1f.r~.fJr~~fil!if¥fttB~ ! fF -~1ttfttm 
lIl57 iJ¥.f=.x 

3. ~lfJ:f+=A{B' l~~~~-1rt, §WHJJ1± 
~~~cp, {~mI FOB destination point. 0E] 

e~••m~~'~*~~1±1W1~~* 
ff~~M.15CP 

1\ ' In recent years, Farr Company has purchased three machines. Information concerning the 

machines is summarized in the table below. ( 18% ) 

Salvage Useful Life 

Machine .Acquired Cost Value (in years) Depreciation Method 

1 Jan. 1,2012 $96,000 $12,000 8 Straight-line 

2 July 1,2013 85,000 10,000 5 double-declining 

3 Nov. 1,2013 . 66,000 6,000 6 Units-of-activity 

For the units-of-activity method, total machine hours are expected to be 30,000. Actual hours ofuse 

in the first 3 years were: 2013, 800; 2014, 4,500; and 2015, 6,000. 

Instructions : 

1. Compute the amount of accumulated depreciation for machine 1 at December 31, 2015. 

2. COlnpute the amount of accumulated depreciation for machine 2 at December 31, 2015 

3. Compute the amount of accumulated depreciation for machine 3 at December 31,2015 


